PSC 531
MODEL SPECIFICATION

The Ramsey reset test tells us whether we have a mis-specified model.  Of course it does not tell us what the alternative model is.   It is up to you and your theory to decide what the best model specification might be.
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We can also compare models using diagnostic tools such as the R2, the adjusted R2, and Akaike’s information criterion (AIC).

For example to compare the following two models, run the goodness of fit statistics provided in the fitstat command in stata. 
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Which model do the statistics suggest is preferable.  Be specific.

Please note that whatever the statistics suggest, theory should still be your ultimate guide in specifying a model.  

Outliers may have a disproportionate effect on your model.  To test if this is the case, run a regression:

reg  cwpceyrs lowdem s_un_glo
Then you can examine the residuals to see if there is an observation exerting a disproportionate influence on the regression model.  (In a simple regression with one x variable, ordinary scatterplots suffice for this purpose.  In multiple regression an observation with an unusaual combination fo values on servaeral x variables might have high leverage, or potential to influence the regression, even though nonoe of its individual x values is unusual by itself. (see Hamilton’s regression diagnostics chapter).  You can run an added variable plot using the pull down graphics menu in Stata.  This plot is available in the regression diagnostics option.  Run the added variable plot for all independent variables. 

What are your conclusions?  

To plot what the outliers might be, you will need to label your data observations (this data set is not appropriately labeled in this way.)

You can also use a diagnostic statistic such as cook’s d, dfits, Welsch’s distance to find the observations that might pose a particular problem .  

reg  cwpceyrs lowdem s_un_glo

predict d, cooksd

predict DFITS, dfits

predict W, welsch
sum d DFITS W

list ccode1 ccode2 if d>.015 & d~=.
Now do the same for the highest DFITS and W values.  What are the observations that seem to have an extremely large effect on the analyses?  
